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Section Marks : 40



Maximum Instruction Time : 0

Sub-Section Number : 1
Sub-Section Id : 501314140
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 5013146928 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following organelles is primarily responsible for intracellular digestion in animal
cells?
208 S’ Swroil eeijl*cﬂ,éj & |80b wdirzres® 28 (FREmsor erid Serroh?

Options :

Endoplasmic reticulum
Vela e Jelal-vilsle

1. %
Golgi apparatus
, % P8 B0
Lysosomes
3 @ B smen
Mitochondria
4% e smo|Bai

Question Number : 2 Question Id : 5013146929 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Cellulase enzyme can hydmlyze

= e P S
IBOEJ o0 "’H"ﬁt' el s0e :JE"-:\ oJ D‘ui -::1_"{:‘: 23 DahriesD

It'il

Options :

a-1-4 glycosidic bonds
a-1-4 05265 sogren



B-d-glucosideglucano
4 % P-d-BERGEIHsST

Question Number : 3 Question Id : 5013146930 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is the final electron acceptor in aerobic cellular respiration?
Bod =&6° 2608 Rengerd T I8cHE® 058 e ‘3%‘: 205850 o

Options:
Pyruvate
1 % 2FES

Oxygen (O.)

) w823 (0,)

Carbon dioxide (CO.)
S5 Sairg)E (CO,)

Hydrogen ion (H*)

4% TEeS oairsS (HY)

Question Number : 4 Question Id : 5013146931 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following best describes the structure of hemoglobin?
Bod BS° DB SIS NO%ERR)) e 2209067

Options:

A single polypeptide chain with a heme group bound at one end
" a8 Lad ot t,':ltu-:,._a":l :u_.' Hares vDﬁF h_,é —“n,._._} sy l..’i FPenss

Four identical polypeptide chains, each with a heme group
5 % TreND SPErEHy arORIRG Mo, aSYES ooy Dirirod” eotron

3.¢



Two alpha and two beta pnlypeptide chains, each with a heme group
Both eer) $86 Both der D 26 Fexde, a8H el Siirio® totron

A single Iarge molecule with no subunits, containing multiple heme groups

2 S & o 5DA &) adsmre B a8 DY w0
4. % -

Question Number : 5 Question Id : 5013146932 Question Type : MCQ Option Shuffling : Yes

Correct Marks : 1 Wrong Marks : 0

During the chloride shift, which of the following occurs in red blood cells (RBCs)?
&6 &f $avos’, AY 65 Swrod® (RBCs) 80b BE° 2B Sogiioh?

Options:
Sodium ions (Na*) diffuse into the RBC in exchange for potassium ions (K*)
_ erfoho eairdd (K') abherr SF&aho edirdy (Na*) RBC &5 STGRIRRON
Carbon dioxide (COz2) is converted into bicarbonate ions (HCO*) within the RBC
. sfntairg)E (CO2) RBC &0 & *'oé\mef ahpe (HCO) Srdethaod
Oxygen binds to hemoglobin, decreasing its affinity for carbon dioxide
. wded SPEFTAnE 2000 8)0HER, FYHIEFEE 5 o0 9B SA06
3. ' & A =W

Chloride ions (CI') move out of the RBC in exchange for bicarbonate ions (HCO¥)
entering the RBC
RBC&8 53803 st@éﬁ woiP3%H (HCO¥) athenre §BE eairsy (CI) RBC

4.« Sob achéd Sdhenmeon

Question Number : 6 Question Id : 5013146933 Question Type : MCQ Option Shuffling : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following is a un]que feature of an open circulatory system?
Bob BE° &S SthgBed bYW @) (HE oo AB?

Options :

Blood is confined within vessels
o 080 TrEmesy HONEO SahahEod



Blood pressure is high throughout the system
Y woder S5 JEYHNT Gotnod

Blood bathes the organs and tissues directly

v 550 I eSchHaren BN Swerare s Tdod

Capillaries are present for efficient gas exchange
DNYH0SDS MR SrG)d §o SErdEen oD

Question Number : 7 Question Id : 5013146934 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following animal groups typically possesses a neurogenic heart?

Bob ardE° o sodh Sdrien Arerdwore SgBEs otk 8OA Goéron?
Options :

Mammals (humans, dogs, cats)
gotren (SrdDen, DEen, Hegen)

1. %
Insects (bees, flies, butterflies)
v Serseen (BaBirfen, Sfen, Her8PEDensen)
2.
Birds (hawks, owls, pigeons)
250 (Hgen, Mgiraen, srayoren)
3. # ' N
Fish (salmon, tuna, goldfish)
. daden (Freys, e, F°G )
4. -

Question Number : 8 Question Id : 5013146935 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The primary structure within the heart responsible for initiating the electrical impulses that
regulate heartbeat is
10BE'R 2 (PR T80 57 B D008 Acho BT DS (RS Frdododd.

Options:



Aorta (main artery)
JE.;J cﬁ“‘i:n ([0gea) (a2d))

ena cava (main vein)
S 5ear ((Bges 80)

Sinoatrial node (SA node)

- 2T BcHS 6 (SA I°8)

Atrioventricular node (AV node)

4. %

o|Bdrdo@iyed F°E (AV 35)

Question Number : 9 Question Id : 5013146936 Question Type : MCQ Option Shuffling : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following plays a key role in the initial activation of the blood clotting cascade?
(j 8] ﬁ:‘déd‘v r\.J’E j, 2] {jOL? LSLUJ ‘8":' 365{ HOu _“ﬁ%(fﬁ 6 D;é aJ lnq o) m_M,OEJ}

Options :

Fibrinogen
2ET8ES

Platelets
5 A'-T,?e':,

o)

Vitamin K

DEHR B

Albumin
4 % B0

Question Number : 10 Question Id
Correct Marks : 1 Wrong Marks : 0

: 5013146937 Question Type : MCQ Option Shuffling : Yes



Uricotelic excretion is the primary method of waste elimination in which of the following
animal groups?
cHrOEEOE DYS 930 (B0 O w0 SHriPed® e Fohod ErEDE HEa?

Options:

Mammals

& 5roen
1. % ™

Insects
ééJE’-"E_D
=3

Birds

Amphibians

4% &gidhsoeen

Question Number : 11 Question Id : 5013146938 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The countercurrent mechanism in the kidney involves
Sor|Bhosodt ;JFSE.;‘JQL;:]L:%D:’)J (countercurrent mechanism) @»g) 26,

Options :

Active reabsorption of water from the collecting duct only

- 28603 &8 o S DB Boirdeore 8BA (Erosto

Passive movement of water from the collecting duct to the surrounding tissue
28B0T &8 008 5638 Swererdd H8 AepairE s s6a8

Movement of solutes (like sodium and chloride) in the opposite direction of filtrate flow
within the nephron _
rS %e 3;-;@65 a8 $808 H45° (oo §508 (RfGabo HOch §BE H0H9)

L= o
o

3.¢

Both active reabsorption of water from the collecting duct and passive movement of
water out

8003 aeEr8 ol A HHHe HITyemo Jabiio HO I aabeH AgyAFELor

S¥o Bolse

2]

4.% 7



Question Number : 12 Question Id : 5013146939 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The contractile unit of a skeletal muscle fiber is called
oRDoRs Eorvre a0 TN & 50855 ahrDes

Options :
Myofibril
c-l{:c“q_ll'"'cﬁ

1. %

Sarcumere
5) NONN]S,
2.

Mycsin filament
AP HOTHOE

Actin filament
airén Heshoes

Question Number : 13 Question Id : 5013146940 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

What is the pnmar‘y fun-::tmn of the myelln sheath in neurons?
e d® DS Bdo @ng) ErEans HoER HMB?

Options :

To transmit electrical signals along the neuron
Srpoes Soey DS HoSEred Harto Dahmedd

To facilitate rapid and efficient conduction of nerve impulses

NTO DGO SHS0HTN B0 LeDPI0S T (DB eSS0 TobEns
2. ¥

To regulate the flow of ions across the cell membrane
££26b :050 0L AITM (2T w)) ODN0|E30TICH0

4. %



To provide structural support and protection for the neuron
AT B0 ATRETe5 8 200 eh) SBAD OF 2 @oB0WG0

Question Number : 14 Question Id : 5013146941 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

What is the primary mechanism responsible for the propagation of a nerve impulse along a
neuron?

A

SIRE” spen S0°0 | Bl T8 el 58 2P0D [FREDE AFR0 ADH?

Options :

Diffusion of neurotransmitters across the synaptic cleft

SR 508 eoder .:ﬁ:““rﬁflr:,? SYvle! 58)

1. %
Changes in the permeabilit\; of the neuron’'s membrane to specific ions
QB3] BOIFRH Jrgoes §°8 Gng) s Oy S Sroyen
2.
Contraction and relaxation of the neuron's cytoskeleton
SsoeR PETDOS @), Ho8So Hbam H8Dos)
3. % i
Electrical signals transmitted through gap junctions between adjacent neurons
. RS ) Smoey Dtk mD ol T (B0 DS HoSere (DS

Question Number : 15 Question Id : 5013146942 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

During synaptic transmission, neurotransmitters are released from the presynaptic neuron
into the
RS (ErR)abee Hnaho of, (& 8- SEoee $ob I 5’ (o) S8 Dthise
30‘@ VTN
Options :
Extracellular space

-"'g\"*"'lt'_‘_‘ i = Ty =
oJEYET ORI oed
P = ol ot

Axon terminal

= =1 =3
BWE ) 000
T .



Synaptic cleft

[ p— =
Pa)S Sg)
2S5 Zad

3.¢¥
Dendrites
GolBeH)

4. % '

Question Number : 16 Question Id : 5013146943 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is the MAJORITY cell type found in the anterior pituitary gland?

P _\_\,‘_\E. o L\n i _.J;___\_ i
Bob &S ety Deegad (10fE” 800D FHerdd 28 880 267

Options:

Neurons
sl eiiy)

Astrocytes

T L T
sl e

e

Epithelial cells
JDEOEHS Searen
3.

Fibrphlasts

= y E -
VARV DY

4. %

Question Number : 17 Question Id : 5013146944 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a second messenger?
Bod & 8ok HRoeb 570 26?

Options :

Cyclic AMP (cAMP)
285 AMP (cAMP)



Sodium ion (Na+)
PEacho ewdho (Na+)
2.

Inositol triphosphate (IP3)

. 53 0ersS B (IP3)

Calcium ion (Ca?*)
seEoho @aha (Ca?)

Question Number : 18 Question Id : 5013146945 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

During the menstrual cycle, progesterone is primarily responsible for
a0 S|S0’ FPBRTS (BeS erghd DA?

Options:

Stimulating ovulation (egg release)

2o &) (R0a0doio (DK dhie)

1.
Thickening the uterine lining
giepytalent goh ig5osEo
2.¢ "
Suppressing appetite
3 % S5O enddabio
Increasing energy levels
F8aronwid oo
4, % ®

Question Number : 19 Question Id : 5013146946 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a component of the feedback loop involved in maintaining
homeostasis in an organism?
28 £06° Trr@rThRN AErodtos® ES) HEemE urnd (Bod A" 26 Ko

n o )

g

t0?

Options :
1. %



Receptor

== 4
8] p,_;%i\J

Effector

= %E
el gl 20

2. %

Control Center

3 x QoDoEes Sol&o

Hormone

4V fﬁ%@

Question Number : 20 Question Id : 5013146947 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Freshwater fish constantly lose salts due to diffusion and gain water due to osmosis. How do
they maintain ionic balance?
H0008 Ten eRAT svmorr Hodbo ewed Fehmon Hbah M8 Fothaan. ©3)

adiraE dodhor &) ole® ) “Q‘““voﬂ

Options:
They excrete excess water through gills and take in salts thrcugh their skin

1% (4] ?ma’;:;e; RO e LB EFWOD &3 “{ﬁ 0 G%TP @ odmres &hotron

They drink large amounts of water and excrete concentrated urine
. 03 5N Sndod® DAY serberon HbA DN SrEEd) DHGaron
2. N =

They passively absorb water and actively pump out salts through their gills
@09 HAI B spabore Hieraron 2080 a8 e TRT° Lo HHHT adhis

3 5’;05’;:@-@;,-

They have no adaptations and constantly struggle to maintain ionic balance
THB JotnHo BHdee B9 50 odirls a%E B Agrodeeas Adoddo

ERtlataglen

Question Number : 21 Question Id : 5013146948 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0



Which of the following statements about enzyme inhibition is INCORRECT"
J0oB™ BRdNS § Jomofods (Bod [HEtsed® 2b $)?

Options:

Competitive inhibitors bind to the active site of an enzyme, preventing the substrate
from binding
S0NEHHS 3P JoFD @nY) AR PBE wofion, SHHED aofossHor

« 26°608

Non-competitive inhibitors bind to a site on the enzyme other than the active site, but
stiH reduce its activity

E _",:\.\ - £ o — /= :L“ o E\.| o 05
-500865 B0 JOBDER & pE airgs P 0w 200FE0, SR B3B8

gy s-'-'o*ﬁ;ﬁéeaén SARoD
2.¥ ? o

Increasing the concentration of substrate can overcome the effect of a competitive
inhibitor
?35;}::\-5 ) DD Dosto o S 26%Ko @) [Hgrard) ©fHoTID)

3. % N
Irreversible inhibitors permanently inactivate the enzyme by forming a covalent bond
with an amino acid side chain

3B5QmS spOY DS bl PEINE SHArEIDh WogER) AEBSEC TRT OB
5 o [_écﬁﬁéi*ﬁs‘_ﬁc- SO
4, % ’

Question Number : 22 Question Id : 5013146949 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is the first step in the breakdown of glucose for cellular energy
pruduction‘?

oxerl 48 688 KpES DN Jadtod® Bod aBS° It ¥ 96?

Options :

Krebs cycle

B dIgo
1.

Glycolysis

ﬁg‘:f‘.&#—
2. ¢

Oxidative phosphorylation
o$BAS FAHBEAS



Gluconeogenesis

ﬁ r‘ll.r mﬁﬁTEWF\JD
4.

Question Number : 23 Question Id : 5013146950 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following components is NOT directly involved in oxidative phosphorylation
within the mitochundria’? "
DE>0E0rE° w8 EAS FRADTNIE JGm PEIA Eod grred ob?

Options :
Electron Transport Chain
(TR (EPPEEE BS

1. %

Glucose
o8

2.

Chemiosmosis
T Ht.FAI't‘-'ENIE\

3. % Dh&‘.-‘ [ éf\-’f‘-\.ﬂ
Oxygen (O;)
98225

4% wfeo (0,)

Question Number : 24 Question Id : 5013146951 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following describes the type of protein with a thread-like structure, insoluble in
water, and providing structural support in tissues?

Bob &6 BE erod Aoyeo, AE S Hoah Snererod® JouErds HEHDH wodod
fﬁngﬁ C’SGE\.; o.»o;UOéJ(:J Cﬁ

Options :

Globular protein
Faneb [P8S

Fibrous protein
2085 (§88S
2.



Membrane protein
SoBS [TEBS

Simple protein

= StA=
O |EPEw

By ot
cdOo )

Question Number : 25 Question Id : 5013146952 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a class of lipids according to their chemical structure?
Bol rEE° b a8 SarahS AoyEmo (FHdo Ohke TR =?

Options :
Simple Lipids
P08 D
1.
Complex Lipids
208y D8
2. % G e
Steroids
3 % Qoong)
Saturated Lipids
0BG O
4 Cﬁjﬂuﬂ G D3R

Question Number : 26 Question Id : 5013146953 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a product of one cycle of beta-oxidation?
B0l r&F° b &&F—fg%ﬁa’iﬁ TnE) 2.8 J(o dws) 6H8 s5°H?

Options :
Acetyl-CoA
SBEa-CoA

1. -

NADH

2.



FADH2

Glucose

-.mﬂ"'”

4.« ="

Question Number : 27 Question Id : 5013146954 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the foljowing is NOT a type of lymphocyte?
Bob 8S° 26 Do B¥o 52H?
Options :
B cell

ﬂ :
8] e

T cell
T 285

MNatural Killer cell
egte 8eb DS

Macrophage

Question Number : 28 Question Id : 5013146955 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a secondary lymphoid organ of the immune system?
Bob THE° 2 BHATES 5 3 @) 8 B80H Dodfont eschdo smH?

Options :

Lymph Node

1 % 903 S



Tonsil

R K
e S

Question Number : 29 Question Id : 5013146956 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following antibodies is the MOST abundant in the blood and plays a crucial role
in protecting newborns? )
Bob &6° & 85 e 8506° e goeran HOAN Serd FDHHo 8805t08° 0%

Pl SPaaran?

Options :
1. % Ca
- gD
3 @ lgG
an IgA

Question Number : 30 Question Id : 5013146957 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a function of adjuvants in vaccines?
Bod &S DO —*E:Srﬁraé{ RiPchBe (etharos) 85550 soek?

Options:

Stimulate the immune system to create a stronger response to the vaccine

. S a0 H8H0ED & ROTERS BHAGES IRy BE e
1. o = s

Inactivate the weakened or killed germs used in the vaccine
TIBSE &IBEA0DS BOiFHDD Brr Sodnds Srg8ined Jiycho Jabio
2. ¢

Increase the effectiveness of the vaccine by enhancing the body's immune response
3060 @ng) BRABHSS (85D Dot T B [Herard) oSt



Act as a carrier for the antigen to be delivered to immune cells
AT S SredH oFoBBS Hodd JoHEES sHOaHsm HATnob

Question Number : 31 Question Id : 5013146958 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following methods is NOT traditionally used to generate monoclonal antibodies?
IrTERS drofertod 668 Johmad Eod e’ 26 SropiranSor aS@rRoTRsE?
Options :

Hybridoma technology (fusing B cells with myeloma cells)
TERE ST Fen S22 (HStSr Swrod B Swred Soico)

1. %
F’hage display (using bacteriophages to display antibodies)
28 3R croderdei tSlnts)etnlapis m*sﬂo‘:’m DEOD aI@rA0SEo)
2. %
Chemical synthesis (artificially creating antibodies in a lab)
Barahs Doz (H@EriTed® §@hor Has o Hhodto)
3.¢¥ -
Immuncprecipitatiun (isolating antibodies based on antigen binding)
. 25T (RDDEARS (AirodBI Bosoh sgrdorr [HES D Jwiahio)

Question Number : 32 Question Id : 5013146959 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is a PRIMARY function of the major histocompatibility complex
(MHC)?
(8ob a6 (g rPer0araDs 03f) (MHC) Gio) (Zrgis $0255m 26?7

Options :
Produce antibodies directly

- Jtore [HBE oD 6&S Do

Break down pathogens within immune cells
BHAEES Srrod® arRsEs Swred HDRo Jeiob

Present fragments of antigens to T cells for immune recognition
3 ¢ 8506558 oo B%o T Swred dirodEse JSeren wob0he



Transport oxygen throughout the body
) B0 wodir sdmd S
4.

Question Number : 33 Question Id : 5013146960 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

What is the primary function of interferons?
B[00 (PGS 05850 DMHA?
Options :

Antibody production
. aroderd 68

Cell proliferation
Segre 28¢5

2. %
Viral replication
3 % ['c'Q O ga.{{u
Immune cell activation
BT w6 “:'-Tﬁc-_n:-_{{\_-
4. & o

Question Number : 34 Question Id : 5013146961 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following types of hypersensitivity is mediated by IgE antibodies and causes
immediate allergic reactions?
8ot 86% & 853 TrBNHS IgE patssred Db Javesod SO $m we 0

L8UG0S bmn)Hoh?
Options:

Type |
1.¢

Type Il

Type Il
3. %



Type IV
4, ®

Question Number : 35 Question Id : 5013146962 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

A 5-year-old child experiences frequent ear infections, pneumonia, and diarrhea. These

infections are often caused by pathogens that a healthy immune system could normally fight

off Which of the following is the MOST LIKELY explanation for this child's condition?
08P 0D ) BYTRD SDHP Ta) aa\éfx ReEA0ie DB ST SRVAR oY

& wotnaPyhen SGHT W&‘;Déé s ) Hogdian, eSS 6B 5355 Perdmo

m Fohiod. & oo K038 Homofod Bob A OB M 56067

Options :

Autoimmune disease

.oé‘:{t "-':uﬂg—'.j.'—"
1, ® =] ﬂwu gt

Immunodeficiency

> afalontc! 35 &0

Food allergy

- D& «08)

Vitamin deficiency

ay iFt'
mﬁ@n.::c@ B

4, %

Question Number : 36 Question Id : 5013146963 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following features is NOT a typical characteristic of cosmids used as cloning
vectors?

00 3G e@rnod sRyfe G Foros oFEo

u500 00 (300 ofred 067
Options:

Contain a selectable marker gene for antibiotic resistance
| % OroBad@ras ABEE 8550 JoDHE GRS SrED ey S9A eotHe



Possess an origin of replication for independent replication within a host cell
ﬁ:t';_ DO rgfold (38srade &%50 pasrn T0g) Srerd) SOR GoKe

Able to incorporate large DNA fragments {up to 45 kb)
28 DNA (3rToed) (45 kb S55%) srothsisStie & cﬁ:nzf»e SR ot

Can package and transfer DNA into a host cell like a bacterlephage
4. DNA &5 BJ““%E_@J v_*,d 208 e.a”_".lt'm wu@té _mgﬁg Do 268 Cﬁu‘b

Question Number : 37 Question Id : 5013146964 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following techniques is used in the production of human insulin through rDNA
technology?
DNA Bsrj trpe SR8 SR e &é® (8ot ecﬁie s arRodatheol

Options:

Polymerase Chain Reaction (PCR)
POIVD BS oairgs (PCR)

Restriction Enzyme Digestion
=] ?Jei QOB GENR

Gel Electrophoresis
S LBIE 0L

Bacterial Transformation
ePSOaNS [EPSOEIS
4.« ° e

Question Number : 38 Question Id : 5013146965 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is a widely used method for generating transgenic animals?
2Rpr0)8 2oHHoDH ) JaheeRd Bod 8 Ao eS3@RN0T I8 HA?

Options :

Somatic ceII nuclear transfer
1. % 285,88 Y wew u:,._.all'-'_:'



Microinjection of DNA into the pronucleus of a fertilized egg

S v DOBEE 1Hef) oY) (BPRgB0HRS"S DNA Ging) 8] =088S

Retroviral vectors
{5 5el 5] 5&5:,

Biolistic particle delivery system

FpEEE SpaE ana A B B
4 % Eﬁm-..-"l:_:':;g; ;“'E__{gﬁ (st e rlodeld
ol il i

Question Number : 39 Question Id : 5013146966 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a primary application of transgenic mice?

o PSS 0b elygird)d Junse [ErES GHarko soh?
Options:

Studying the role of specific genes in human diseases
PSS yees® 05 ekgde PED egiohdo Jakdo

&

Testing the effectiveness and safety of new drugs
§°8 Sapre (Dgrsio nbdin g5 a":ﬁéoaﬁtém

Producing large guantities of human proteins for medical research
. S 2687 5700 2P ngod” e EE3D edhd Jahdo
3. 3 =

Enhancing the growth rate and meat quality of livestock

v $HPo o Otn HBAW oo gD DoBo
4, ik -

Question Number : 40 Question Id : 5013146967 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following types of stem cells has the greatest potential to differentiate into a
wide variety of cell types?
038 B3 S Ssenre JgRodERs (Bob Sse Srered” 26 ) e $OR 6067

Options:
Embryonic stem cells

23085 sogee Bearen
1. ¢



Adult stem cells
©6e e Seed

2. %
Induced pluripotent stem cells
3 % @,0{53'{53 PBstEoeS shre Seeren
Fetal stem cells
4 % 288 re Begeen
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Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 5013146968 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is a characteristic shared by most members of Kingdom Animalia?
80Nt JASFDFE’D e 020 & (808 THE O 05O HOTVRIOLRC

Options:

Autotmphic nutrition

1 % et ¢5°05 £

Cell walls macde of cellulose

i Ech e = F =
= | it Eoh B, = S o
2 % -:\_':":',_C,_'ff'fa g3e9 Tiedod n_.F_a-:..J':'i:lEC-

o 4

Heterotrophic nutrition

3 BT HE 9%



Rigid cell walls for support
sﬁ:gén 8750 &HEahs =8 e

[+¥

Question Number : 42 Question Id : 5013146969 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

What is the primar‘y material that makes up the shell of Elphidium?

JENEADO S:d ST D (PGS SlageloRy &?
Options :

Organic matter
0olB0D Seego

Silica
) % 205

Calcium carbonate

528 (0 SPEHRES
3.v : i

Magnesium sulfate
Dfpcho S8

Question Number : 43 Question Id : 5013146970 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following stages of the Plasmodium parasite is NOT found in the human body?
apRfBabo oD %) Bod $IE PSS ¥0806° SBoUD B¥ a6?

Options :
Sporozoite

- & ones

Merozoite

5 % B E oned

Ookinete
3 v #3833e5



Gametocyte

raeS 2065

Question Number : 44 Question Id : 5013146971 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following classes of Porifera has skeletons made of calcium carbonate

spicules?
Sob #8ron 58 ¢ho o 5 ?aﬁfuﬁif‘f 325 osoared 8DA &) TS 55 D67
Options :
Calcarea
seE)Bdir
1.¢ =

De muspungiae

2 ® L.,J{:udﬁt'f}t“

Hexactinellida

e} = o
2 PE S 3
3. ® gy

Sclerospongiae
. EVlsiougstovy

Question Number : 45 Question Id : 5013146972 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the folluwing is the simplest type of canal system found in sponges?
Bob 8F Fmoded® 5050T SUEHD 3oS & 558 287

Options :

Asconoid

1 ¢ oRonG

Syconoid
D8 rons

Leuconoid
ra‘-:g?atm:-ﬁ



Rhagonmd

4 % oeRtarons

Question Number : 46 Question Id : 5013146973 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Nematocyst cells are a defining feature of which phylum?
JDeFRY, Beren @ poo GnE) oFeso?
Options:

Platyhelminthea (flatworms)
2BTPY0RR (RReSarden)

1. %
Cnidaria (jellyfish sea anemones, corals)
OO (B8 5%, B JITrR), Hieeen)
2. x~==-’"'
Echinodermata (starfish, sea urchins)
BITTYEr (R0 DR, Hin(ED odyF)
o 4 23 = AR
3. %
Nematoda (roundworms)
4 % S0P (Bokargen)

Question Number : 47 Question Id : 5013146974 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

In the life cycle of hydrozoa, which of the following statements accurately describes the
relationship between pulyps and medusae?
TEE d08 Jgod®, DT HOo Dihne H; Soaorrd) Bod FBE 26 pHSor

DRB0b?
Options :

Polyps and medusae are separate and distinct life stages, and an individual organism
can exist as both during its life cycle
D) HdAH HHD 36 Jh oA K EDS S¥en O 28 2 B wd £DS

| @ 5@0&“? BoBoBs™r $0EHd)



Polyps and medusae are two different species lhat coexist in the same environment
P9 Hoa BED &8 TEddnos’ Girddso T0 Boh 0B erden

Polyps are the only life stage, and medusae do not exist in the life cycle of hydrozoa
5705 Sr@aDh #08 ¥ ddh FEE T €908 S HHD T T

Medusae are the only life stage, and polyps do not exist in the life cycle of hydrozoa
oD Seigeh £ 58 Hoch EEr 98 S0 k0T &JT B

'."

4. %

Question Number : 48 Question Id : 5013146975 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is a characteristic feature of platy helminthes?
Bod ar&S° apdd TrYogh @ng) D83 ©FHo 2B ?

Options:

Segmented body with internal organs arranged in a repeating pattern
N le ] SSamoed® R eptalaty @eé‘ége‘:& 05ahrest dEBosads $880

Dereeventrelly flattened body with an organ- system level of organization

5 SIS -DGD P o *omﬁn &6 Toled) Sthidre &3 680

CylindrieeI bedy with a pseudocoelom {felee body cavity)
g GEEREHE SrED Kparees 3660 (Sitd 68 HFGo)

Hard exoskeleton and paired eppendagee fer locomotion
F8°53r08 8%50 55 IENOLS HOAH 2 TV wdaogren

Question Number : 49 Question Id : 5013146976 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following structures is NOT part of the male reproductive system in
Schistosoma?

Bob Aopred® Qb DTFITSQ HHR HH55S 18 HH6° grrio sh?
Options :
1. %



Testes
u_é)-}.{E‘c.-

Vas deferens
2. % D_p _, f.:fq,Cn,

Seminal vesicle
g o u:u.a,c-'é’“: _-jg“éch_

Vitelline gland

DTBS (508
4. ="

Question Number : 50 Question Id : 5013146977 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT a common morphological adaptation found in parasitic

helminths?
Bob) ES b ST ‘“dwu 80203 ~rrdm 56 CSRoEs 9DRSe S°th?

Options :

Spines or hooks for attachment

wérSdoe] 850 )]) Bor 8

1. %

Simplified digestive system
RO £ 235020

Thick, protective outer layer {tegument}
P, S5t adhé §°5 (Brigshots)

Complex nervous system

W B oas et
w0So) oPG é,_x_uf'm
4w TR 0%

Question Number : 51 Question Id : 5013146978 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a characteristic feature of Polychaeta?
808 &S 26 rbier Gng) o8 om0 =2?



Options :
Segmented body

DeRosSads $68o
1. %
Paired paddle-like appendages called parapodia with bristles (chaetae)
5 % 2ae5es® Bperod) DETEEAT o 2enSat Sng ﬁ° (88)) essomogren
Clitellum
3 @ s88wM
Well-developed head with sensory organs
4 » BolBad ©HcHared wrr @dHn JosD So

Question Number : 52 Question Id : 5013146979 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Coelomoducts are
f&ﬁaﬁ.;% 955D

Options:

Structures found in protostomes for the excretion of metabolic waste products

g(8ah &8 edde ]G 8o (B tﬁ‘%\, aeﬁ{ 52003 Jogseen
1. \‘_ﬁ? LJQ o) —o

Specialized organs for gas exchange in aquatic organisms

, x B9 E506° mh Vol B590 (59 evsdaharen
L= o o

Reproductive organs found in chordates for the transport of gametes

£ .n: I
o TenSe Sar 5%%0 5°0508° HIHHY eHaharen
3. o

Digeetive structures present in nematodes for the absorption of nutrients

Sbasre FFhm 860 3tted® aod ﬁé lepinisy
4. %

Question Number : 53 Question Id : 5013146980 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following animals exhibits true metamerism?
Bod &S 26 VeI DEFDOR0H (BHG0H?

Options:



Earthworm (Annelida)

1@ rRaran (0F)Pe)

Tapeworm {Cestod a)

GJJ& (™ i.'u [
2. % =

Jellyfish (Cnidaria)

3 % 2O Fedair)

Housefly (Insecta)

4 % Wﬁﬂg% (5.{\.- E-"}

Question Number : 54 Question Id : 5013146981 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following structures is NOT directly connected to the brain in the nervous
system of a prawn?
Faiye w6 SHNe & DS Jor sbdomrlodard Bob AoYeBED 0?

Options :

Antennule
Sro8rne
% el

Compound eye
sroFo6 Ean
2. ® =

Thoracic walking legs

PorRE a8oh seey
3 v c'ji"?::tm:,wsoﬁ?h%_

Mandibles
ai:ﬂe&anefjj

Question Number : 55 Question Id : 5013146982 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

How many pairs of legs can a Peripatus typically have?
DEDOVD FESHorT O 880 5°E) G0eron?



Options :

1. % ;
L 10
o, 243
4w 100

Question Number : 56 Question Id : 5013146983 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

What is the primary |rr|tant that triggers pearl formation in mollusks?

o0e N{'uu ;JJ_'@': ¢ s -.':_r" L_mémclml [c_-.'z_"ﬁm_.'é *::.LF':I[E":_] Cl_G-.J\..-'f;"‘?
Options:

Food particle
1. % @385 Bwmo

Predator attack
BELE o

Internal injury
@c-éﬁgé‘é maiho

Parasite or microscopic intruder
SoeEd Bor ETDHDHE Foertnmet
4. & S

Question Number : 57 Question Id : 5013146984 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

During Iarval deuelopment in gastropods, torsion refers to the
rﬁ?fﬂ%%’: "5_'-‘” 'C_T‘U'? &g cﬁ EJ {*..651_.':%@’#5._ Jﬁw éc\,"u eJJ ?;Jmu-DE:l

Options:
Coiling of the foot
1 % PG50 GNE) sPondon



180° counter-clockwise rotation of the visceral mass and mantle cavity

v DRSS SFH B STodS B8 GnE) 180° ezdcisy 838° (gm0
2.

Detrimental mutation affecting the nervous system
SEEVE o E R BV TR ESES

_“:(% ':A.n’u'\.o'l.'\_'.p |a..l::,., "0 Do el

Shedding of the larval shell

4% erond 2 REoR

Question Number : 58 Question Id : 5013146985 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a component of the water vascular system in echinoderms?
Bob »8E° AT GEYEN artb b e’ grrio G 6?

Options :

Mad reporite
S|BG0S

Tube feet
“ Syl ?&IES

Nerve cord

3 v Sore §°5

Radial canals

. 8BS 3rO)
4, '

Question Number : 59 Question Id : 5013146986 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following groups have closest affinity to Balanoglossus based on its shared
features like @ proboscis, a dorsal nerve cord, and a similar larval form?

Ly m 6_{'6 S Hoee §'o m&ctiu BT 5% €% a0 o908 T ATy e OO SErEoTP

[+} " J
ARV ﬁ:r\.w L_D.- Henraed® E}l {'qu apes & ‘lu.C LSPD_.'F'LOEJ?

7

Options :
1. %



Echinoderms
BT= ':\\'_5;' T
D«.Ef\.- “'15&_.

Annelids

&NOG)
r=t ey

MNematodes

ey
Sa0eFE
™~y

3. %

Phoronids

PE°RE)

4.+

Question Number : 60 Question Id : 5013146987 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a component of ecosystem structure?
Bob ar3S° Hogtes HE5E Joywod® grrio PG 6?7

Options :
Animals
22060580

1. %

Soil

, % 3o
Energy flow
45 |sarsiro

3. v
Climate

4 PER b0

Question Number : 61 Question Id : 5013146988 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0
With respect to Carbon Cycle, which of the following processes removes carbon dioxide from

the atmosphere?
s R8G5 Homofod), Bob FHEo® ab srarteo Hod SR EarSESD Fonkod?



Options :

Cellular respiration
e oed B \Bum

1. %

Decomposition

2 % kJDOG %‘D:E
Combustion
’{r:l'-“ﬂu.{r:

3. % ]
Photusynthesis
‘}jéqﬁe Oa 2R

4.

Question Number : 62 Question Id : 5013146989 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

In which of the following ecosystems is an inverted pyramid of biomass most likely to be
found?
Bob e & oegaites SgSRE” RN @NE) O 26%5 HEDE )P EHF"NehEod?

Options:

Tropical Rainforest
ﬁ%ialo Go Sorbesgo

1. %
Deep Ocean
&85 ;5 50S0o
2. = :
Grassland
a. "'“'-i""l:" ?""‘.{!"":
3 % f"ﬁ% gisinen
Tundra
4 @ lf:C",?:T':

Question Number : 63 Question Id : 5013146990 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0



Which of the following is NOT a characteristic of a parasitic relationship between two animal
species?

8ob) 36° Both a0 @H D Ao 29 Somolo oo =8 287

Options :

The parasite benefits from the relationship
Q0200 Dol Do EL (HCreTred

The parasite lives on or inside the host
ch_‘vcﬁ:u -:,.-'»'_":tr\_, -::._J ?:-"'m !ﬁja_,_p g}c\x{j:‘\j@ 5(‘:9@

The host benefits from the relationship
3¢ & :G}‘T do2ogo Hod (HdEraso Srothé:

The host is harmed by the parasite

4% Do weyor TR B0 230060

Question Number : 64 Question Id : 5013146991 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following phases describes the slowest growth rate in a sigmoid growth curve?
(Bob 586 B BifyonG H7 SE0pS" Jeiydre 7 v 2667

Options :

Lag Ph
R %

rt-
5
By = ﬂl

Exponential Phase / Log Phase
ITFIoBS D& [ e°h

S’tatimnar}»r Phase

f 5358 E

ecli ne Phase (Not always present)
 2es (DQNEP SOGED)

Question Number : 65 Question Id : 5013146992 Question Type : MCQ Option Shuffling : Yes



Correct Marks : 1 Wrong Marks : 0

Which of the following is the FIRST stage of ecological succession, where a barren area is
created?

80 r8E° moat [arodo oSl Hoetn arikE) dnid ¢F 267
g LJ
Options :

Competition and Co-action
£FA HBasm & SEspnlely

1. %
Stabilization or Climax
DEDESS Soe E"’iﬁg
2. ® =
Invasinn
ﬂ.ruwﬁw
3. %
MNudation
56::5 )
4.«

Question Number : 66 Question Id : 5013146993 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following practices is LEAST effective in controlling soil pollution caused by
agriculture?
Saraho Ho 8N Jo senam) AcholBotios® [Bob HEHEE Db S5 FerdHodorr

£0¢006?
Options:

Using organic fertilizers instead of chemical fertilizers
BarcH0E ABHeH aihen DolBcH JBen aeKto

Practicing -::mp rotation to avoid depleting soil nutrients
J0 Paseen ’*E'*‘o Ho6° $0GoMNH Jod SEHED ardoBto

Increasing the application rates of pesticides
3 v DOIDHODHO BRI Tey DoSio



Planting cover crops to prevent soil erosion
J0 @5 Darbosre8 856 Soted eedo

Question Number : 67 Question Id : 5013146994 Question Type : MCQ Option Shuffling : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following is the first iger reserve established in India?
Bob 8S° gr8sBdos® phodnts IS Siid Sedy H6?
Options :
Kanha Tiger Reserve
g 816 Besdy

Ranthambore National Park
bu&‘i‘@?ﬁtf—i r\_.-::-.J,H_“:E _TE};

Corbett MNational Park
SoG)e5 Sases 6,
3.¢¥

Sunderbans National Park
snotibany JASS arh)

Question Number : 68 Question Id : 5013146995 Question Type : MCQ Option Shuffling : Yes

Correct Marks : 1 Wrong Marks : 0
How marwr biadiversity hotspots are located in India?

grESBI08® AR £53DGy PSS emmon?
Options :

Cne
.58

Two
BotDH

Three
. PSVhTAY



Four

4 eetH

Question Number : 69 Question Id : 5013146996 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following best describes the dominant climate of the Oriental region?
Bob HE 2B £.605008 (oS0’ E R0 arEENbErd) eSS0 AHEROE?

Options :

Temperate with mild summers and cold winters
BOErS 0D b J0 darsrered® SHdE%Y

Arid with very little rainfall throughout the year
D PG Trer S50 SEAES08° SPEMP 0enob

Tropical with warm temperatures and high humidity

5 v DI e Hia @b B0

Polar with frigid temperatures and permanent ice cover
B &S DHOAD RS HoHS® 5WAES (03 12700

Question Number : 70 Question Id : 5013146997 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

What is the primary reason why Wallace's Line separates distinct animal groups (e.g.,
marsupials vs. placental mammals)?
TO0 80 29 w0 HrFod (Gwr. rE)heHe) S0 arRotd é;ﬁmvpj;} 8T8

PR S0 ané?
Options :

Mountains on the islands near the line created a physical barrier to animal movement
O Janiios® 63 Gured® Hwren sodde 505D Fa8 oS8 R & HRoTon

2. ¢



Deep ocean trenches near the line limited historical animal migration between regions
D9 Judiod” &) 6°8 Vsl Sotiseen (grozre ey wrO(ES sodde dudemd

$5B0E0 FE0

Different climates on either side of the line favored the evolution of different animal

O3 3ihaer 60) 906 et aaf 050 80e Hbrld ehigraomr

Volcanic activity near the line prevented animal populations from establishing
themselves
B9% H&nsios? &) OMFNRE sheraron w0 aTrgr SN avn | oy PS8 S0

4 % QBGowan

Question Number : 71 Question Id : 5013146998 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT evidence that supports the theory of continental drift?
8oB 86" s08R066 (6] Rigpoge) 558 0% 3P0 SR6?

Options:

The matching coastlines of South America and Africa
¢58e0 ©shdse DO wBiHse TnS) 56T &8gromren

The presence of similar fossils on continents that are now widely separated
B DYBorr IHAVHED porred® serod derErad GOGE0

The existence of matching mountain ranges on opposite sides of the Atlantic Ocean
otrofds Hifdno Ahtire 6) N5 [Bee 68

The presence of similar volcanic rock formations across different continents

4 25 porred’ a8 A ofNtd dor Joro 68

Question Number : 72 Question Id : 5013146999 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0



Which of the following describes the movement of an earthworm away from a source of light?
800 86 2B 08 Hreo Hob FIeran TE) SKEDH DS606?

Options:

Kinesis

Positive Phototaxis
Fess Pterdn

Negative Phototaxis

3 SNES FeTerdyn

Chemotaxis

=% =
ERlA

4. %

Question Number : 73 Question Id : 5013147000 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a benefit of imprinting for baby birds?
Bob 788" imprinting S0 Sy HHeH HmGodto Hy HErEio BAO?

Options :

Helps them learn essential survival skills like finding food
asforR) SRPSt0 Hof Smagahi SRt Faergesh JEEos” 208 Hfdbiithebod
1. %

Allows them to identify with their own species
a8 i0d erdhed” NDHoIEPIS P8 einanod

Provides them with a sense of safety by following a parent figure
2008 B BDHHB0SE0 THoe w68 e grard) SOAN0

Enables them to develop complex problem-solving abilities
851505 Dy -230ar)8 ﬁ“@%&ﬁ oyl JOHEedE arB eHH8i0d
4.



Question Number : 74 Question Id : 5013147001 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

In social insects like ants, what type of pheromone helps them find food sources?
D50 H08 FSres Soeedt, D E5PS PO @ SHveH EHFSEes® 38
e aDDH00?

Options :

Sex pheromone
w8 8 AR

Alarm pheromone
wero DB Ir

Trail pheromone

3 v B B3eS

Aggregation pheromone

, % OONRS PBFRS

Question Number : 75 Question Id : 5013147002 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

What is the most important role of circadian rhythms in the birds' migrations?
550 Seded”® dumBahs bfoe dng) o8 SuggHS i 2.

Options :

They regulate the overall direction of flight
@8 2 Gng) B JaHo@Ton

They determine the timing of migration

. gt = -
5 POmE HeNdTTan f0onAPoD
2 =M =,

They control the birds' energy expenditure during flight
@) 3¢5 Sahod® HHe I8 Hord dchoGron

They help the birds navigate by the stars
@ JFEre oo IPeH AN Tohios® SEabEron
4, ®



Question Number : 76 Question Id : 5013147003 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following groups of animals undergoes retrogressive metamorphosis, where the
larva possesses more advanced features than the adult?

8ob modide Sdres’ b DETTNG HErSrERNS 655900, B85 eo0 ard

( Adult) S0 exhirss vimrod 50 sotnob?

Ln.‘

Options :

Hemichordates
1 % PO

Cephalochordates

DarStsnes

2. %
Urochordates

- a8 o0
Echinoderms
BT Sl

4, ® -

Question Number : 77 Question Id : 5013147004 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is a distinguishing feature of Petromyzon (lamprey) but not Myxine
(hagfish)?
Bob B FIES (er0(3) G DY 080 267 DO 78IS OF L0 FAA.

Options :

Presence of teeth

HSomeen 58 &ofHed
1.¥ o

Lack of paired fins

- 3906 ) B58ES%0

Production of slime

- 2D 668 T



Exclusively marine habitat

4 % [S@Sore Hamil Daeo
5 e

Question Number : 78 Question Id : 5013147005 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which type of fish scale is typically smooth to the touch and has concentric circles on its
surface‘?
o) G538 R ue SPEriore G @orrad @bdh ol 60800 aca@é\é O

DA &oénoh?

Options :

Placoid scales
—-'E“GJJE Jrf*

1. %
Cosmoid scales
- = uﬂ,cu:nﬁ )

Ganoid scales
oot EJ&&-
3. %

Cycloid scales

2 ey e

o500 5 WE_JTEE\_:
4.«

Question Number : 79 Question Id : 5013147006 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is a characteristic feature of the Order Urodela?
8ok rHE° b &fd 6B Ror @nE) H3F ofpso?
Options :

Leathery, dry skin
g6 &en erod) Sto

Absence of limbs in adults
e-:-r:ﬂgzﬁﬁ e50haren BESESE0



Presence of a tail in adults

agmhe® &% 40a aodto
3.¢ -

Internal fertilization with a placenta
SER0EPE” ©0oS8E POBERS

Question Number : 80 Question Id : 5013147007 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following amphibians is a well-known example of paedogenesis, where sexually
mature adults retain larval features?
Sohgore 3068 Bodd -f‘rﬁ & 0%, OFEPed 500 606 DEERIS & 8ol &goiiTed® 6

EFMP BORR GIFrEe’
Options:

Bullfrog (Lithobates catesbeiana)
eSigrh (D§°88) sahiairar)

1. %
Poison Dart Frog (Dendrobates H’nm‘on’us}
, % sroness &0 (3R (GolS°E) Bo§oaHR)
Axolotl {Ambysroma mexicahum)
wEYG (200855 HE)EFen)
3.¢ T

Green Toad (Anaxyrus americanus)
4 % (BS S (07888 eDB=ER)

Question Number : 81 Question Id : 5013147008 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is the primary function of the temporal fossae in the vertebrate skull?
Bk a36° H530Y YOS BoFES P @Y EPES FHogs A6?

Options:

Provide a smooth surface for the scalp
5> 2 Spthidd e008erd)) wobood



House the equilibrium organs
Qe eddhared &odto

Allow for expansion of the brain during gruwth
2B0Ee SHahos® D DHBHEH oHHBoSE0

Anchor powerful muscles for jaw movement

” 558 8598 B0 $8%5083% Sodored cirosd dabdo
4, ¥

Question Number : 82 Question Id : 5013147009 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a member of the "Big Four" - the four most dangerous
venomous snakes in India? "
8o 86" b “OF 57 (grEEBIos™ Teorh edid HRrESEHS TS ranem)S’

2,86 se?

Options:

Bamboo pit viper
eroa® 285 36

Russell's viper
520 826

Common Kkrait
sesie (36

Indian cobra
208000 Traran

Question Number : 83 Question Id : 5013147010 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of ti}e following is the LEAST likely reason for birds altitudinal migration?

Bob 8 HH HH SeNPEieRs e e 5860 wb?

Options:
1. %



To escape colder temperatures at higher altitudes during winter
$95°008° 968 AHS® &) SuD SIS Dod B80S HERE

To find more food sources at different elevations throughout the year
Lo G0 PESoe DD aj?ﬁjeg-éf' 2008 @3B0 ddthed SfdEo
2. %

To avoid predators that are more common at lower elevations
S5 QS QST $IDoT HroarFHod Jrbodnrd
3. %

To lay their eggs in areas with less competition for nesting sites
[ahiint) gé :e\,#'ﬁm 8 F‘_‘E'g_,d;' wﬁfﬂ 15:::3 4:'0_4":@ ﬁ_n..\.- leCCgC‘
4.+

Question Number : 84 Question Id : 5013147011 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

What is the primary function of air sacs in birds?
250G md Johe (Jond arF)) [@rgans Poss wdnd?
Options :

To store food
wsFoe) Dexy SoHED8

To aid in respiration
TR0 SStabo Tobmedd

To regulate body temperature
#08 &sf5dH dohHoBosEIs

To provide buoyancy in water
A% Qs 280 WoboSED

e

4. %

Question Number : 85 Question Id : 5013147012 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0



In most mammals, the teeth are replaced once during their lifetime. What is the scientific
term for this type of dentition?
Tep S6rod’, oo a0 dddspos &30 Srt) Sohatimon. & B8PS Koww FHD

2o oJcJ]t’j?

Options :

Diphyodont

1@ laralonyaaiele]

Polyphyodont

5 % DTG0

Thecodont
3 % G5 G08

Homodont

FARV I b ae (]
4.% °

Question Number : 86 Question Id : 5013147013 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following cell types in the present is considered immortal?
5"%;"19-::—--'&;@“?3 S0l A D Swo e:8R5amr Sbndodathéod?

Options :
Spermatogonia
) o) R aki vl
1.4 S
Spermatocyte
5 % cﬁc:”*wrﬁ
Spermatid
B)epiala
3. % '
Spermatozoa
D, 3 202D



Question Number : 87 Question Id : 5013147014 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which type of cleavage describes a fertilized egg where the cleavage furrows completely
divide the egg, and the resuiting blastomeres (cells) are roughly equal in size?
2 BEDS DD Holstn HEd 56:00. 28K VIS MHHD Fram Agastan Db Do

53 epfing) (Swren) éu:i, 506 Teey) Narsore ﬁzomaﬁ’

Options :
Determinate cleavage
- GBHORS 838
Indeterminate cleavage
, BOBBERS &3
5 P 2
Holoblastic cleavage
v retterDE 838
3. ¥ e A

Meroblastic cleavage

4. % ﬁﬂﬁeaﬁwg %ﬁ

Question Number : 88 Question Id : 5013147015 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the follc:wing is NOT a normal location for a placenta to implant in the uterus?
KomE0006° SpR0trd eRHERS Bob THE° 26 Pt (@HHd0 SH?

Options :

Anterior wall
1 % ©008BaH5 5

Posterior wall

1 = (=
2 % S°QECL6 O

Fundus
F08BR

Cervix

“ReEn
4. o "’:;_'-Ec\.-



Question Number : 89 Question Id : 5013147016 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0
What is the MAIN structural component of a regenerated lizard tail?

DSDHG Vabeads wdS°s G (Hees Joys grfo HId?
Options :

Bone
1. % 08

Muscle
Bosdam

Cartilage
Sperd (=208¢S)
3. -

A mix of bone and cartilage in equal proportions
DS DB AEmE DO HYHerd (5°0Be) o|Favo
4, % )

Question Number : 90 Question Id : 5013147017 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the incorrect statement related to phuspholipid bilayer in the plasma membrane.
Bod BE° O Samsio apam TG 63 FRHDLE D8NS S $ob?

Options:

It consists of two layers of phospholipid molecules arranged tail-to-tail
26 8% Hod LD 258@8S PTHDDE vmde Gng) Bod oD DRG0

The hydrophilic heads of the phospholipids face the watery environment (inside and
outside the cell)

.;T-'%*QEJEJEPJ g B985 b TPEBEeR) JHE0ERON
(RS %0 5Hoah Jend

2. ¥

The hydrophabic tails of the phospholipids interact with each other in the interior of the
membrane
FHPHE0 @) FREEHHE 8% F6 6%50 grrod’ w8’ 288 Hodds Jotharow



It provides a flexible barrier that controls the movement of molecules in and out of the
cell
30 26 %o Hbak Jende smHe 505D Aaho@od PEERH0SH ﬂaﬁﬁ':ﬁ%

a_

4 % w0000

Question Number : 91 Question Id : 5013147018 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

What is the primary function of mitochondria in a cell?
Bes0d® e se0|Bcir Gng) [ErEnE Ho50 Danés?

Options :

Store genetic information
sy Mraroed)) Ney Babiso

Produce ATP
ATPD &8 Sohod
2. <

Transport materials across the cell membrane
Ses Ho@S BB (HH HTEe) Bares

Break down waste products
el a’:m*cogm SHIRNO JaehEo

Question Number : 92 Question Id : 5013147019 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the folluwing events occurs during metaphase of mitosis?
DD DerE Shohodt Bod EER O Jozherden stirbaron?

Options :

Chromosomes concdense and become visible

%“:*DE 551nen qﬁjemmmj 50800y BAHTRoN
1. %

Sister chromatids separate and move towards opposite poles

5 % 2P0 B EraG: St Hban 5H0S (hare J Sthevaron



Chromosomes line up in a single -line in the middie of the cell

26 S0t B 3ratHhen a8 5036 Seow
3.v¥ 2

The nuclear envelope breaks down

4. % ﬁﬂﬁﬂr{jﬁ GJ:‘-., ‘:'_J.;.J :q.,'L,' é;éjéj@ﬁ]@ﬂ

Question Number : 93 Question Id : 5013147020 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following statements about the structure of RNA is FALSE?
RNA Qoo 190003 Bod Rdotied® ab $:)?

Options :

RNA is a single-stranded molecule composed of nuclectides
RNA 036 {5m3@r8Ge8® 565 o8 bond 5RoBE e

1. %
The sugar component of RNA is ribose
- BE°% @2 RNA @ng) 20i0 oS0
RNA contains the nitrogenous bases adenine, guanine, cytosine, and thymine
3 RNASEaD PHTreD BEIN, TIPS, PSR DO Fo
Phosphodiester bonds link the nucleotides in an RNA strand
4% vl 5 mopeen RNA | _T‘C-..u@jc\,' S8 Girgtod Senshmron

Question Number : 94 Question Id : 5013147021 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a typical component of an operon?
Bod &S° Qb TP @) grifo 5H?

Options :

Promoter

| % (23a3meab

Operator

, % ©H0LE



Structural genes
[5’3;5365 esRigayen
3.%

Terminator
&U&{ué—;ﬂﬁ

Question Number : 95 Question Id : 5013147022 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a comman application of electmphnresis in molecular biology?
8o 86" 6P dSTigo @BETE adired)s’ OB JUEFORT G et GiidiRo

55H?
Options :

Separating DNA fragments based on size
Der agrdorr DNA f8eren 3% dabio

Identifying proteins associated with a specific disease
0298 %68 Somogo &) FFAHD MBosto

Determining the concentration of an antibiotic

Frodad@rss r:fmb; B0 D goxeﬁfﬁo
3. % %

Visualizing the sugar content of a cell

SR N0 BoBotsid s dabso
4, v -

Question Number : 96 Question Id : 5013147023 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is true about linkage and crossing over?
DoSE SHOGH (5°RoR £:56 900D Bob rgaEined® OB Jao?

Options:

Linkage increases genetic variation in offspring
o D05€ Soaros® ey DY DoHBod



Crossing over strengthens the linkage between genes on the same chromosome
shof &30 28 (Fars’ D’ adghe JGEm edkorlodal eotron

Genes that are closer tugether on a chromosome are more likely to be linked
L Srat S cﬁﬁfjﬁﬂ 00 3,56:“"“@1,u u,éj BTP SN0 PRoURE6 GotroD

Crossing over only occurs during mitosis

4 “ D_:L.-ﬂ. e uEiCﬁJD'ﬁE dl.” 564.)3 F%Dﬂ duod 5 w&mmufﬁ)

Question Number : 97 Question Id : 5013147024 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the fmlowing statements is NOT true about frameshift mutations?

—ch_

(e08lg) g 350 100D (Bob aeagsined 58 D6 Do H?

Options :
They are caused by insertions or deletions of nucleotides in numbers that are not
multiples of three
St MHesseen B2 Sow *e,e‘i” AREEPEGON Sa)0SE0 S &oRodSEo H0 33

g R0gDRN

They disrupt the reading frame of a gene, leading to the misinterpretation of the
genetic code
@d) wigd) Gy, 68oh [HDD wodorabo EDATEAR, 86 &Ry HOSTON Sy

850 8 S8 wd8Hod

2. %
They can result in the production of a non-functional protein
3 % ©3 TR-HoESS BFES 6888 wbdron

They are always beneficial mutations, leading to increased diversity in organisms

y 99 JUEE (HArESEEHS 6850585, €906 B0 DINEE THBTEoD
4.,

Question Number : 98 Question Id : 5013147025 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is a main principle of Darwin's theory of evolution by natural selection?
5P JODE (DO VTEY) e OO D podo G (S5 o (8o B 207



Options :

Acquired characteristics are passed on to offspring
¢ P00 ofmra Homeardd eolSEcHatEron

Organisms with traits best suited to their environment are more likely to survive and

reproduce
T8 HogIEERS wrre S62Eah ofmred’ ) 2e8 HrE Hoc INEEBS B

(=g

> BaErE0 G0k

All living things were created in their current form by a higher power
of) g 8 (558 5e506°  higher power TR0° 50 w5eTmon

Evoiutinn happens rapidly over a short period

@ oJalfaTe] mw E‘ﬁﬁ_%_:-u E éﬁlfﬁﬂ ﬂﬁ{]ﬁ“ atordod
4.

Question Number : 99 Question Id : 5013147026 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

A cheetah population on a secluded island has a higher frequency of the allele for a specific
fur pattern compared to the mainland cheetah population. This difference in allele
frequencies could be most likely due to

DT 87 270 R e 2aver & FOR A 08 f() D zrrere A0F Fuh) 08
“-0&** 5 3:0) $00 50a06. & SrErdl T

Options :

Strong natural selection favoring the fur pattern on the island
CRRI0E°D & G°) Sahrard egroornr &00 BOsDN Dares o8

A large influx of cheetahs with the fur patterri immigrating to the island
&%) SSrard” Dhden Gerdd Dol ST 1Y (Harsto

(A}

The random fluctuation of alleles in the small island cheetah population
0 figgio Dhe argrd” ©FT (9B M) ToGH TedEhen
3.¢¥ E g

A higher mutation rate for the fur pattern allele on the island

4 % Oeo8™ &h) Sirar 088 ehE SngEnsS O



Question Number : 100 Question Id : 5013147027 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a possible mechanism that can lead to sympatric speciation?
8o 86" LnarB8 RHEERND rb8H wwdo B0 267

Options :

A shift in the preferred food source of a subgroup within a populatior

| % & &' & DirEFo @Y (Frordy ettod® S

The development of polyploidy (having multiple sets of chromosomes) in a subgroup
653 S5uesFo8” Srdapont (g (F'IrE oD S0 Gothe) @ng) oIHH

The evolution of different mating seasons within a population
asareed® DD Dot srere HBeRI0

The formation of a geographical barrier that isolates a subgroup
&5 $HrSY IDHTw FRLS 058°%50 B0

4.+





